s
o ] AT N A ORI b A PR
Py N2 4 ) LR AR B B2 iy DR By ke vfE 5% 3R

— AREARFRERR (R#FR, ABH: 00)

B AR
R4 50 E#FE (o)
Y EcR W 2.40
Mt 1 AILE 2 A LWL 0.48
A2 AILE 4 A TS 0. 32
A4 HILE 6 AL 0. 16
6 75 7T WL L& 0. 08

= AHRABRSERE R (RI#HR, ARH: 0L)

B AR
(e R E (%)
a8t 1 7 Tn 3.00
it 1 FLE LA THEL 0. 60
it ) FLE 4 F THE L 0. 40
it 4 FLE 6 FuEL 0. 20
6 77 7T bA L4 0. 10




. BRRABFRERE (RARE, 2B 0T)

BA AR T
(e Ri#EE (%)
A1 7 TnH 2. 64
it 1 ATE 2 A LS 0.53
Mt 2 AILE 4 Houm g 0. 35
it 4 FILE 6 Foum g 0.18
6 7 mbl E# 4 0. 09

. BARAFRERFEREL (R#RR, ARH: 0T)

B ARG
(e RZHFEE (Yo)
R W 3.30
A1 AFLE 2 uEL 0. 66
L2 HLE 4 uE 0.44
it 47 TE 6 AL E S 0.22
6 7t L& 0.11
. RIBFURAER SR
I (NRTT) S T R K
0 1

50 0. 975




100 0. 944
150 0.909
200 0. 875
250 0.843
300 0.812
350 0. 784
400 0. 757
450 0.733
500 0. 711

E FRHETEAR LT

SA: fRIG&F

F1: xEpr “FAEIE 1 7 mhy” B9 R R

{1 A TE 2 AWML WEHTE
F3: Xp “BI2HLE 475 TN WEHFEFE
f4: xth “Hd 4 HTE 6 HmNHL” WEHARE
f£5: xR “6 7m E#A” By R#t

Z?H—
B

f2: Xﬂ,}ﬁ «

P: Rtk
4,
Min (SA,10000) x £1 + Min[Max (SA = 10000, 0),10000] x £2
P = J+Min[Max (SA — 20000, 0),20000] x £3 + x G IR A I R R

Min[Max (SA = 40000,0),20000] x f4 + Max (SA —= 60000, 0) x f5



